| abed

OV 130 OALLVHLSININGY HOLO3dIasns 0V Jmoéﬁ 3410

ON¥ZOTZ3dYNr Li=EB] b STOIHYL HWOONNWA3 od

A

LZLcz96zs $Z252'601:75 LZeLCRzITs Lrers'sreys - sen jop juzj0
—Gege0occe —LEspglies / erouepusdaq/owey uis
0Z'1£2'969'2$ £2°262'601'2 1Z’SIE'9TL'ZS LW'ors'vZe'vs OF'8S0'0EES- L8P09'PSL'SE 3010d mV._J.Z&‘m\Q OINVHOJWILNOD LNV 30 0O3SNN

elsuspuadeq/owey uig

(p-€)=09 S ¥ (z+1)=¢ z i
{sauojoonpay)
opdiassfeqng opebeyd opeBuenag opesypop / ssucpeydury opeqoidy ojdasuon
soselbg
W d gZ:Z0 | ugisaidw) ep eloy 0202/ des/oe I 020Z/'sUs/L0 2Q | £¥N " soseibgojsendnsaidopers3ids doy
020z/100/50 | A eyosy BARERSIUWPY ugloedlyise|n sopejed sojusleq s

s0saib3 ap ojsandnsaid |ap 0191218(3 |ap 0aIeuUY Ope}sT
ISOL0d SINT NVS
ISOLOd SINT NVS 30 OINVIOdWILNOD 318V 3d OISNIN




"0V 130 QALLYHLSINIWGY ¥0L103M1a8NS

0008 000$

SOWONQLNY SONYOYO
0008 0008 0008 WIDIANE ¥3a04
00°0$ OALLYTSI9F ¥3004
00’08 <U _n_ n_ < O Z OAILND3r3 ¥300d
2008 0008 000 00'08 00°0§ 1SV 130 IvI0L

g v (z+1)=¢ z 1
opjisfeqng opebed opebuanag opesyjpop (sauoonpay)} opeqoudy oydasuog
1 ssuopejdwy

OWsIqoY 3P UBPIQ - BAJEISILIWPY UQIDEDYISE])
020Z/d8s/0¢ IV 020Z/°9us/L0 120
sos2163 ap ojsendnsaig oja12ia(3 jep oomijeuy opeis3

ISOLOd SINT NVS 2agapu )
ISOLOd SINT NVS 30 OINYHO4dWILNOD 314V 30 O3ISNA



"YW 130 TVHE3N3O HO103dIa
§30d34vd av

VIYVLIHOAVIA TVLYLSI NOIOVIDIL YV

0008 00°0% 0008 000% 00°0% NOD SO2IN8MNd SOY3IONVNI4 SOSINODIZAIH
YIMVLIHOAVIN TVLV1S3
NOIZVdIOILYYd NOD SVI¥Y.LINOW ON SYH3IONYNId

00'0% 00°0% 00'0$ 00°08 00'0%

SIVIYYSIHANS STTIVLVLISIVHVYC S3AVAILNT

5 YINVLINOAYN TV.LVLS3
) . ) ) ) NOIDYdJIDILYYd NOO SYI¥Y.LINOW SYHIIONYNIL
00°0% 000% 000% 00°0$ 000% STVIMYSIHdWE STTVLVLSIVHVC S3AVAILNI

VIRV LIHOAYW TY.LVLS3 NOIOVdIDILYVd NOD
SCOY3IONVYNI4 ON STTVINYSIHHNT SOSINODI3Ald

VoIl1dV ON VisvLHOAYH

IV.LV.LS3 NOIOVdIOILYYd NOD SYH3IONVYNIS
ON STTVINVSIUANT STTVLIVLSIVEVd S3AVAILNI

00°0% 00°0% 00'0$ 00°0% 00'0%
SOYIIONYNI4 ON A STTVIHVYSIHAWNI
0008 0028 000% 00°0$ 0008 ON SOSINODI3AI4 A STIVLIVLSIVHVYd €3AVAILNI
0008 0005 0008 0008 000§ Q1S9 130 TYI0L
s v (z+1)=¢ z L ojdasuo)
olojasefagng opebed opebBuasag opeayipo (seuoidonpay) opeqoidy

| seuodeydury

Iejeisaried 103098 - BAJENSIUIWIPY UQIIBIYISEID
0zZ0zr des/og IV 0202/@uUs/L0 [2d
sosalb3 ap ojsandnsaid 0191243[3 jop oanljeuy opejsy 2P \.
ISOLOd SINTNVS N
1SOLOd SINT NVS 3d OINVYHOdWILNOD 314V 34d O3ISNN




